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Question No : 1

Which of the following is the purpose of JES?

A. Receives and schedules jobs, and controls output processing
B. Creates new data sets as instructed by the JCL

C. Helps users design or update new programs

D. Validates login information to identify users

Answer: A

Question No : 2

When creating new data sets, one must specify the NEW option for the DISP parameter of
a DD statement. Which of the following is required in addition to the NEW option when
allocating disk space?

A. The type of high speed memory in the system
B. The space allocated for the dynamic extents
C. A hierarchical file system name

D. A volume serial number

Answer: D

Question No : 3

Which of the following is the sequence of the job phases as they flow through the system?

A. Input, Purge, Convert, Output, Process, Print
B. Input, Output, Convert, Process, Purge, Print
C. Input, Convert, Process, Output, Print, Purge
D. Input, Process, Print, Convert, Purge, Output

Answer: C

Question No : 4
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In addition to the z/OS and z/VM operating systems, which of the following operating
systems run on IBM System z excluding zBX?

A. Windows, Linux on z, z/TPF
B. AlX, z/VSE, Linux on z

C. Windows, Linux on z, AlX
D. z/VSE, Linux on z, z/TPF

Answer: D

Question No : 5

Which of the following describes SQL where DB2 determines the access path at run time?

A. Determined
B. Dynamic
C. Static

D. Agile

Answer: B

Question No : 6

Whenever a new customer record is added, it is always added at the end of the data set.
Whenever the customer data set records are processed, they are always processed
starting at the beginning of the data set, each record is read and processed, and
processing stops when the last record in the data set has been processed. What is the data
set type?

A. Sequential
B. PDS/E

C. RRDS

D. PDS

Answer: A

Question No : 7
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Which of the following resources processes the JCL statements for each job?

A. Initiator
B. Spool
C. JES2
D. WLM

Answer: A

Question No : 8

Which of the following describes a non partitioned data set?

A. A collection of one or more records that is stored in physical order
B. A collection of sequential data sets called members

C. A collection of logically related data records

D. A collection of directory and members

Answer: C

Question No : 9

Which of the following enables processing of a batch job in a z/OS environment?

A. UNIX Services
B. ISPF
C.TSO
D.JCL

Answer: D

Question No : 10

Which of the following elements allow different z/OS systems to share PARMLIB definitions
while retaining unique values in those definitions?

A. System Parameters
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